(Model)

Analytic Hierachy Process (AHP)

4.1
41

R = [ Xt Xt X]

R = (Rating)

1=

X =

(Multi - Regression)

(Prototype)

41

AHP

AHP

(Model)

(Subjective)

A1)
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040
0133
0.081
0.10
0.056
0.100
0.044
0.081

43

0.545
0.182
0.045
0.06
0.036
0.06
0.025
0.045

4.2

0.284
0.227
0.057
0171
0.019
0.171
0.014
0.057

0.396
0.297
0.033
0.099
0.025
0.099
0.019
0.033

0.256
0.183
0.11

0.146
0.037
0.146
0.012
0.11

0.0360
0.0220

0.349
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0122
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0.065
0.065

0.396
0.297
0.033
0.099
0.025
0.099
0.015
0.033

AHP

0.236
0.184
0.105
0.132
0.079
0.132
0.026
0.105

3.0
220
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6.5
6.5
40
2.0

100.0

0.284
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0171
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0.014
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41

0.349
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0.022
0.065
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44
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0.039
0.065

0.306
0.245
0.061
0.184
0.020
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0.418
0.313
0.035
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0.026
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0.125
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0.047
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0.418
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0.034
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RClI = 0.42X, +0.24X2+ 0.12X3+ 0.12X4+ 0.06X5+ 0.04X6 (4.2)
Taii RCI = (Rural Road Condition Inclex)
X = ()
X2 = ()
X, = ()
x4 = )
X5 = ()
X6 = ()
RCI 34
RCI 30 602
RCI
(0.4 RC| 2520
4.6
4.6
( )
715 .2003/2
1,450 .2003/1
1,281 20031
570 2005
1,491 2001
596 2017
RCI 0 100
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Aomax NJO*42X max ¥ A*AMYIMax " 0-12X 3max ™ 12X 4max + 0.06 X 5max "
0-04X e (4.3)
K = !
RCI. 100
44 43 44
100 = k [0.42(715) +0.24(1450) +0.12(1281) +0.12(570) + 0.06(1491) +
0.04 (596)] (4.4)
k 010014 43
45

RCI = 0.042X,+ 0.024X2+ 0.012X3+ 0.012X4+ 0.006X5+ 0.004X6 (4.5)

RCI 45 23
4.7

43

42 024 212 212 -6 14

RCI RCI
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(Sensitivity)

(Reliability)

RCI
(Roughness)
(Validation)
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